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Spiel 01
Spiel 33 5 Spiel 25 0 1 1 KC 1 0 Spiel 17 3

tom 2 0 0 32 0 0 KC 1

Spiel 49 5 Spiel 45 5 zwisch 1 tom 1 2 16 wof b. 2 wof b. 2 Spiel 41 2

franz 0 tom 0 Verlierer=17. Verlierer=25. 17 tom 1 3 Verlierer zu  40 wof b. 2

anal 2 franz 2 Spiel 34 0 Spiel 26 0 3 9 chris w. 1 0 Spiel 18 2 chris w. 0
Verlierer=9. Verlierer=13. 0 0 0 1 24 0 0 chris w. 2 Verlierer zu  50

Spiel 57 0 Spiel 55 0 franz 1 0 0 4 8 tutti 1 tutti 1 Spiel 53 3

anal 2 anal 2 Verlierer=17. Verlierer=25. 25 0 0 0 Verlierer zu 39 wof b. 2

geri 0 chris w. 0 Spiel 35 0 Spiel 27 0 5 5 anal 1 0 Spiel 19 4 murx 0
Verlierer=5. Verlierer=7. 0 0 0 1 28 0 anal 2 Verlierer zu  58

Sieger ins Spiel 50 4 Spiel 46 2 robert 1 0 0 6 12 heidi 1 heidi 1 Spiel 42 5
Halbfinale A hannes 1 robert 1 Verlierer=17. Verlierer=25. 21 0 0 0 Verlierer zu 38 anal 0

chris w. 2 hannes 2 Spiel 36 0 Spiel 28 0 7 13 murx 1 0 Spiel 20 4 murx 2
Verlierer=9. Verlierer=13. 0 0 0 1 20 0 0 murx 2 Verlierer zu  49

hannes 1 0 0 8 4 rudi 1 rudi 0
Verlierer=17. Verlierer=25. 29 0 0 0 Verlierer zu  37

Spiel 37 0 Spiel 29 0 9 3 geri 1 0 Spiel 21 5

0 0 0 1 30 0 0 geri 2

Spiel 51 3 Spiel 47 4 rudi 1 0 0 10 14 hannes 1 hannes 1 Spiel 43 1

rudi 2 rudi 2 Verlierer=17. Verlierer=25. 19 0 0 0 Verlierer zu  36 geri 2

johnny 0 heidi 0 Spiel 38 0 Spiel 30 0 11 11 robert 1 0 Spiel 22 3 wof f. 1
Verlierer=9. Verlierer=13. 0 0 0 1 22 0 0 robert 0 Verlierer zu  52

Spiel 58 0 Spiel 56 5 heidi 1 0 0 12 6 wof f. 1 wof f. 2 Spiel 54 1

rudi 2 rudi 2 Verlierer=17. Verlierer=25. 27 0 0 0 Verlierer zu  35 geri 0

murx 1 tutti 0 Spiel 39 0 Spiel 31 0 13 7 franz 1 0 Spiel 23 1 schorsch 2
Verlierer=5. Verlierer=7. 0 0 0 1 26 0 0 franz 0 Verlierer zu  57

Sieger ins Spiel 52 2 Spiel 48 4 tutti 1 0 0 14 10 schorsch 1 schorsch 2 Spiel 44 1
Halbfinale B tutti 2 tutti 2 Verlierer=17. Verlierer=25. 23 0 0 0 Verlierer zu  34 schorsch 2

wof f. 0 KC 0 Spiel 40 4 Spiel 32 0 15 15 johnny 1 0 Spiel 24 5 johnny 1
Verlierer=9. Verlierer=13. Speedy 0 0 0 18 0 0 johnny 2 Verlierer zu  51

KC 2 Speedy 1 16 2 zwisch 1 zwisch 1
Verlierer=17. Verlierer=25. 31 Speedy 0 0 Verlierer zu  33

Halbfinale A 0

wof b. 0
kleines Finale 0 anal 2 Finale 0

wof b. 2 Verlierer=3. anal 0
rudi 1 Halbfinale B 0 schorsch 3

schorsch 2
rudi 0
Verlierer=3.

Halbfinale B

Sieger=Turniersieger

Verlierer=2.
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